

1. $(2^n - 1), n, M! - M : An + 1, A -$

$(2^n - 1) (2^f - 1), f = M!/n^t, M -$

$(n, M!/n^t) = 1, \dots n M!/n^t, f -$

$\dots M -$

$p (, p - 1 = Bn, \dots f n$

$(2^f - 1) \equiv 0 \pmod{(2^{p-1} - 1)}.$

$(2^{p-1} - 1) \equiv 0 \pmod{p}.$

$(2^f - 1) \equiv 0 \pmod{p}.$

$(2^n - 1) (2^f - 1), \dots (n, f) = 1.$

$p - 1 = Bn \quad p = Bn + 1.$

$Bn + 1.$

$Bn + 1 = An + 1.$

2. $(S^n - 1)/(S - 1), n, : (Tn + 1),$

$n \quad S = \text{constant} \quad (S^n - 1)/(S - 1)$

$d, \quad T - , d - (S - 1).$

$(S^n - 1)/(S - 1) (S^f - 1)/(S - 1), f = M!/n^t, M -$

$(n, M!/n^t) = 1, \dots n M!/n^t, f -$

$(S^n - 1)/(S - 1) (S^f - 1)/(S - 1), d, (S - 1), d$

$(S^n - 1)/(S - 1).$

$(10^3 - 1)/(10 - 1) \equiv 0 \pmod{3}$

$(S - 1).$